3 902

. kg/667m>

1993

1994

902 (CK) =+% 902

(CK) =+%

5692.6 4759.7 +19.6

4138.4 3313.3 +24.9

4088.4 3441.4 +18.8

7449.9 6136.7 +21.4

7455.6 8330.3 —10.5

5764.9 5196.3 +14.8

5341.3
6046. 1
4636.4
5178.7
4909.7
5222.4

499.6 +16.2
+20.0
+7.9
+4.4
+6.8

+11.7

5038.4
4296.9
4960.4
4597.1
4777.9

4 902

kg 667m?

902

(CKD

%

6515.2 5488.8

7180.9 6266. 1
6190. 5 5336.6
8310.3 7426. 5

7049. 2 6129.5

+18.7
+14.6
+16.0
+11.9
+15.3

2.3
1994~1995 2 s
5

C

(mg/ 100g)  (g/ 100g)

¢Z9) %

902
(CK)

20. 20
18. 64

0.53
0.53

5.4
5.2

94.55
94.55

« 902 ,
1.59
s . 35. 8cm,

47

’ ’ s

3. 5kg 79. 2%,
5000kg . 80~ 85d.
4
667m* 3000 ~ 4000k g.

7 18~20 s

10kg

60 ~ 70emX 35 ~ 40cm, 667m?

2400 . ,6~8
, (10 ~ 12 )
667m>

667m>

[\
~

132)

15kg/ 66Tm?
2~3

10 ~ 15kg/
Ske/

Northem Horticulture

== 3 N .‘HL- S5 N =
WEF, £ R, B
1998
74%, 20% ~ 40 %, R
1.1 40 .3
. 3~ 4 \
6 ~ 8cm, 10d .5
, 50 cm, 30cm,
4000 /667m?% ,
667m>
1.2 1 4
b b . 5
2m, , , 50cm,
500 /667m>
2
2.1 C .
: kg/ 667m?
667m?
1 4000 8% 5100
CK 1 4500 3% 4100
1 4000 10% 4950
CK 1 4500 76 % 4000
2.2 ,
, 65%
2.3 ,
667m’ 500kg.
( , 157500



